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Instructions for the candidates :

Candidate must enter his / her
Booklet Serial No.
(10 Digits) in the OMR Answe
Sheet. -

Candidates are required to give their

2
I 2/ answers in their own words as far
. as practicable.
3. g ik eird W g gy 3HF ZUI')"!?T Figures in the right hand margin
- e #xd &1 indicate full marks.

4. FE # gAgEFE g @ 15 ‘minutes of extra time have been
geenferar & 15 e @1 sikifte G99 allotted for the candidates to read
frar war g1 the questions carefully.

5. 7§ qv gierr 7 @vel 4 & —ave-a This question booklet is divided into

v @ue-al _ two sections — Sectlon-A and

Section-B.
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8.

- \S®TE Grocoases]

TGT AT FT OMR I7r waw o
gghT T AT &, Ier whar
gfeome ammr=r gl

@UE - @ H 20 @Y IHT gvT & |
gE & fow 2 o friifta &,
o st 10 wv & IAC I
afard & | e sfifwm i ave A
6 2 g Ty R T TEE
fro s siw FRd B, frmd & fFel
3wwméﬂfﬂﬁaﬁ#/

m%?ﬁ@ﬁa’?mw&
gmgufamaﬁ?-r?l

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be

answered. If more than 35 questions

are answered, then only first 35 will
be evaluated. Each question carries
1 mark. Darken the circle with blue/
black ball pen against the correct
option on OMR Answer Sheet
provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,

otherwise the result will be
invalid.

In Section - B, there are 20'short

answer type questions, each

. carrying 2 marks, out of which any

10 questions are to be answered.
Apart from this, there are 6 long
answer type questions, each
carrying § marks, out of which any

3 questions are to be answered.

‘Use of any electronic appliances fs

strictly prohibited.
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WUE - 3 / BECTION - A
TR WIT / Objoctive Type Questions

WA WET 1 W 70 9% ¥ Uw W & e 9w fager fw o €, e @ T
T ¥ | o gRT g o Wl Rreew wF omRr vt ww fufg w1 amawl
35 WYl & IW A ¥ | ' 35 x 1 =35
" Question Nos. 1 to 70 have four options, out of which only one is correct. You have

to mark your selected options on the OMR sheet. Only 35 questions are to be

answered. 35x%x1=35
1. Freffe § 9 ol awa w@wd e 2
(A) TR SR (B) I AfgA
) Tmafas " (D) uHafEa
Which of the following is the river basin of western India ?
‘(A) Mahibasin _° (B)  Kosibasin
(C)  Ganga basin (D)  Son basin
2. WaQ TR ST IERE &7 ? ;
(a) T SR ® FomIE@
© i e o A
The most important jute producing region is
(A) Ganga delta (B) Krishna delta
| (C)  Godavari delta (D)  None of these
3. oETEEd WS ¢
(A) wARH H (B). M3 H
(0 PREEH: | (D)  efewm A _
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¥ papabudan hill s in

(A) Karnataka " e (B) Goa
(C) Jharkhand (D) Odisha
. Feettea Todt S S e Sigen % 6 aiew @ 2

@) TS B B

(©) AHg (D) - ¥R@US
Which of the following states is famous for Gondwana coal ?
(A) Nagaland (B) Tripura

(C) Tamil Nadu (D) Jharkhand
ST foeRoT @1 e ST A WO Heegl HRE ¢
() TSI B Tl

(©) wihfas et (D) , STEY

The most important factor influencing population distribution is

(A) Landform (B) Soil

(C) Natural vegetation (D)  Climate |
e @ B A 2

(A) ST AT . (B)  9rF HgNUT

(C) & guoT (D), T & it

Which pollution is caused by industrialisation ?

(A)  Water pollution. (B)  Air pollution
(C)  Noise pollution ' (D)  All of these
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© w@wT 3Em O FHH EIERE

Handloom industry is

(A) basic industry | (B) cottage industry
(€) footloose industry (D)  none of these
8. 3T UHINT &R WX ot rawvl § Frafid Frarhendl Y e e &
A) Tedras Srammem - (B) YuH fmameg
©  =qd e D) A

Activities related to high degree and level of innovation are called
(A) Secondary activities ' - (B) Quinary activities

(C)  Quaternary activities (D)  none of these

9. IW uRd H = &1 g WA A T 2

A) AR , (B)  HeTHy

© amE - D) T IR
_Which is thc' main source of irrigation in north India ?

(A) Canal iB) Tubewell

(C)  Pond . (D) None of these

P T e e
[ 3237E [m-0004 503 Pign Bor 28 ST




o, P e A e 0 E0 A E 2

@) e (B) . ¥

€ <HI ‘D) femrEe

Which of the following minerals is called ‘brown diamond’?

(B) Mica

.

(A) Iron ore
(C) Manganese . (D) Lignite
11 Fyefeted et o fee S AfaEE S S arefedd ¢ ?
(A) SR (B TRERE
() wRE (D) TR
In which of the following states Kaiga atomic power centre is located ?
(A) Uttar Pradesh (B) Maharashtra
(C) Karnataka (D) Gujarat
12, Aerfeen die s &7 few woa § R e 2
(A) TR @ wREs
(C) T T (D) AR
In which state is Bailadila iron ore region located ?
(A) Mahgrashtra (B) Jharkhand

(C) Madhya Pradesh (D)  Chhattisgarh
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13, e S o R ¥
A TERAH' | @ s A
(©  eifeen (D) BAER H
Kendujhar manganese region is located in
(A) Madhya Pradesh (B) Jharkhand
(C)  Odisha : .. (D) Chhattisgarh
14. fFAfefes § o9 ot 1 R wra Aa s 2 7
() e ® v forg
() dR | D) ¢ T e
.Which of the following is non-conventional source. of energy ?
(A) Coal hnps:U’ivww.bscbst.udy.com (B) | Hydel power
(Ci Solar energy . (D) | Crude oil
15. 2011 I FHIUAT & FER @R &7 ST g o
(A)‘ « 1126 & / ot fomdt (B) 1006 =&fw / =07 feprdt
(©) 906 &l / &t freht (D) - 1106 =T / &t fpeft
As per 201 l' Census 'the density of population of Bihar was
(A) 1126 persons/sq.km. " (B) 1006 persons/sq.km

(C) -906 persons/sq.km (D) 1106 persons/sq.km.

[ 323}] E- [(B)-9004-E@as) Page 7 of 28




16.

17.

18.

ﬁmﬁwmqﬁﬁaﬂﬁ?ﬁ' ?
| (8 1901

D) T @ HE Tl |

(A) 1881
(C) 1781
When was the first complete Census held in India ?

(A) 1881 ' (B) 1901

(C) 1781 . '(D) None of these
2011 F FTVAT & FER YR T TRIA @RI &

(A) 31'16% (B) 35-16.%

(c.) 36:16% : " (D) 37'16%

As per 2011 Census the urban population in India is

(@A) 3V1-l6% ' (B) 3516%
(C) 36'16% (D)  37-16%
faferfiaa o /@ $H 9Rd # Y0¥ VG & 5 FRO S ?
@A) foamE | o (B) WA
(C) FH 3R IFIR (D) e

Which of the following is the main reason of male migration in India ?

(A)  Marriage , (B) Business

() Work and employment (D) * Education




19.

20.

21.

et et A fowa 0-6 ey ot F fermara freas & 2

(A) ghamm - ' (B) TR

(C) T (D) e wiw

‘Which of the following sta.tes has the lowest sex ratio in the age-group of
0-6 years ?

(A)  Haryana (B)  Guijarat

(C)  Punjab (D)  Himachal Pradesh

2011ﬁmm%wﬁm%%aﬁﬁ@mﬂwmmm@m
Haiyes & ?

(a) g . (B TENTE

(C) e (D) oA

Which of the following states has the highest proportion of urban population

according to 2011 Census ?

(A Tamil Nadu (B) Maharashtra
(€) Goa (D)  Kerala

fafea & § gar Frsieor &1 Tq@ FRT

(A)  STEATCTR HIEA (B)  H&T Al
(C) g HIEA (D) Face =1 sHE

* Main cause of soil degradation in irrigated areas is

(A) Gully erosion (B) Salinisation of soifs

(C) Wind crosion ' (D)  Siltation

[ 323 | E [(B)-9004-Ews) Page 9 of 28




22.

23.

24,

2611#W%'mmmﬁmwmmw%?
(A) ~ TR WY (B) THuE

(C) e (D) o[\

As per 2011 Census which state has the lowest density of population ?
(A) Arunachal Pradesh (B) Meghalaya

(C) Kerala . (D)  Assam

2011 W SAVHT & AR FER I s o

(A) 1041 T (B) 1141 FIg

(C) 961 (D) 851 e
As per 2011 Census the population of Bihar was
(A) 10-41 crores (B)

11:41 crores

(C) 9:61 crores (D) 8:51 crores

fFrferfea voat o @ frge! seien waifus ¢ 2

@) IR B) fEr

© ufem s | (D) ~HERTY
Which of the following states has the highest population ?
(A) Uttar Pradesh ’ (B) Bihar

(C)  West Bengal | (D) Maharashtra

[ 323 ] E [(B]-9004-Eps
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25. gifche gy &

(A) P H B) 3IAHE

(C). et @ | (D) ( eT T Qoo |

Horticulture is related to

(A)  Nower (B cereal

(C)  pulse (D)  fruit and vegetable
26. Wéﬁﬁwmaﬂq@w%

(A) RIS AT . (B fave-smE

(C) a7 IR O T A

The main cause of soil erosion in arid areas is

(A) gully erosion (B) siltation

(C) © wind erosion ’ (D)  none of these

27.  gfgur Wﬁf&ﬁéﬁﬁ@ﬂh‘cﬁ—r% ?

(A T (B) . FerEa

(c) _ arE (D) ¥H | WIS T
The main source of irrigation in South India is |
(A) | canal (B) | tubewell

(C) tank (D) none of these

[ 323' ] E [(B)-9004-E@s) Page 11 of 28




28.

29.

30.

AR A gt e eRe &

W SWwwd (B) Werme #
(C) « Fles § .(D) TR #

Tarapur atomic power centre is located in

(A) - Uttar Pradesh | (B) . Maharashtra

(C)  Karnataka ‘, (D)  Gujarat

S (AP 3 Siferm wamaifen ) w1 TEaed Fe & 2
) o @

© & - (D) S

Where is the headquarters of OPEC ( Organisation of Petroleum Ex_porting
Countries ) ?

(A)  Vienna (B) Jakarta

(C) Hanoi ) (D) Geneva |

siter & Tl S @ i R wheT A s 2

(A) « SEAHR (B) 3R
© TR D)
Village sclllcd around a lake will come .under which pattern ?
(1}) Réctangular (B) Radial -
| (D)  Star

(C) Circular

[ 323 ] E (B)-9004-E3s) - Page 12 of 28




31. frefefea & ®F saEmfs aw &

@) SoEem | ) g
© s | (D) TEEH
Which of the following is a commercial city ?
" (A)  Jerusalem | (B)  Pittsburgh
(C)  Beijing (D)  Amsterdam
32. I ewiies Ant sgar ¥
(A) I SR B R R B) TR AR I T
(C) « T ! ufiran @ -~ (D) TH E HE A

North Atlantic route connects

(A)  North America with Europe (B)  North America with Africa
- (C)  Europe with Asia. (D)  None of these
33.  IEIEEl GRT 39 U ¥ R R i S s faera e man ar o
@  fe | (B) Ty
.‘ © s P | (D) 7R St et

Which type of cultivation was developed by the Europeans'ir; their colonies ?
~ (A)  Milpa . (B)  Plantation farming

(C) Mixed farming , (D)  Viticulture

[ 323‘] E (B)-9004-E(35) Page 13 of 28




34. @ Bl H HY grEtud ¢ |
W EBmENd U @ AR

(C) TTHEFRIE FY 4 D) WewRl i @
Farming of citrus fruits is related to

(A) Mixe§ farming ; (B) Plantation farming
(C) Mediterranean agﬁculiurc (D)  Co-operative farming

35. Freifafed 3 B s # TR § 2
(A)  HEET B 3w EE
() e (D) U™ |
Which of the following is the capital Qf Australia ?
(A)  Canberra (B)  Addis Ababa

'(C) ~ Beijing (D)  Perth R

36, ‘GYEAR’ F FEURVN H W Hew I WUl WA T € 2

(A)  WTHiceh g<h | B HFeE ueE

() . (A) T (B) T | D) T/ PR T

Which cc;mponent is con'éidered as important in the concept of Possibilism ?
(A) Natural éomponent (B) Hufnan component

(©  Both (A) and (B) DO} Nowi:of tisse

[ 323 ] E |(B)-9004-E@s) Page 14 of 28



37.

38.

39.-

40.

m%mmﬁﬁmﬁaﬁwmmaﬁ% ?
(A)  ufeet 7Ry B)  Rvr-ge ufemr
©  hor-fan s (D) IR 3 amif

Which of the following regions is not included in the denscely populated regions

of the world ?

. (A) Western Europe (B)  South-East Asia

(C) South:Wcst Africa (D)  North-East North America
Freafeiens 3 v o - meor a1 smved s i & - |
(A) AT =t = gy B) HIFHA Ay

@ T W o qemg (D)  iifer O&f ety

Which one of the following is not a pull factpr of human migration ?

(A) better living conditions | '(B) Favourable climate

(C) | Poor living conditions o (D) Peace and stability

fora & forar w1 it e waifus & ?

(A) GG TS Wi (B) \ 9Rd

j(C) - ic D) 3R

Which country of the world has the highest population ?

(A) .~ United States of America (B) India

(©) China | (D)  Indonesia
Fefofes & w1 wwel 5 7@ & 2

@) by B

(©) o Jquy FHhy (D) AR 3 F

o ———— =
(323 |E (B)-9004-E@3s) Page 15 of 28




41.

42,

43,

Which of the following is not monoculture ?

(A)  Mixed farming | (B)  Dairy farming

(C)  Plantation farming - (D)  Commercial grain farming

frfefaa & S 90T FIF Tal & 2

(A)  HH! B

© W D) , &

Which of the following is not a plantation crop ?

(A) Coffee (B) Wheat

(C) . Sugarcane (D)  Rubber
forga =it sET-saRE Fiy w6 9 o ¢

A) S0 & | ' B) WU &3 A

© &% D) e A

Extensive commercial grain farming is not practised in

(A)  Prairies (B)  Steppes
(C) Pampas : (D)  Amazon basin
AT SRR YW T FF &

(A)  RICTRIT-BTIET (B)  SICTeRIATI-RIHAIT
© -t | (D)  HIAHIA-HIATR

The nucleus'of the Hugli industrial region is
(A) Kolkata-Howrah | (B) Kolkata-Medinipur

(C) . Kolkata-Rishra (D) Kolkata-Konnagar

[ 323 |E (B)-9004-E(3s) Page 16 of 28
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44,

45.

46.

WIRE | ween Yeat wrRiw waie ga o

(A) 1936

(C) 1923H.

(B) .

1911 1

(D) 19274

The first radio programme in India was broadcast in

(A) 1936
(C) 1923 |
IRAIE 36 Y o3 g8

(A) » 1853 H

(C) 1863 W

(B)

(D)

(B)

(D)

Indian Railway was introduced in

(A) 1853
@ £863

Fifed goA AT €
) FREH
(C) e

Kochi port is located in

(A) Karnataka

" (C) Kerala

(B)

()

(B)

(D)

(B)

(D)

1911

1927

1753 |

1760 H

1753

1760

sifeer &
dfaermrg

Odisha

Tamil Nadu

[ 323 ] E [(B)-9004-Ess)
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47. WE-S= AR

W), WEEEE T (@) e v
©) afquEr (D) Zmgel |y

Waterborne disease is

(A) respiratory infection (B)

conjunctivitis
(C)  diarrhoca (D)  bronchitis
48. el ST aTem Aedf ¥
(a) T 2 (B (el
| (C)  wioteTar 4 D) o

The megalopolis having the higheét popuiation is
(A) Mumbai : (B) Delhi

(C)  Kolkata (D)  Chennai
49. YRE HieH st aa €

(A) IR H . (B) ; T o

© feeltd O) T A FS A
Dharavi slum is located in |
(A)  Kolkata | ' (B)  Mumbai

(C) Delhi ' (D)  None of these

[ 323 ] E |(B)-9004-E@s) Page 18 of 28




Wﬁﬁhwmmammm“m“m@m

50.
g ? - |
(A) WY FheE - (B) iR
(C) » &N & W (D) HFEE WEERT

Which of the following is the most important factor in the. interaction between

man and environment ?

(A) Human intelligence (B) Technology

(C)  People’s perception (D) Human brotherhood

s1.  fafrar dweq o Ry gew @1 gl 9 T Y 2

) TFfw wes © (B T wE

© (A TE (B) IFI " (D) T EHR T
Which component is considered important in the concept of determinism ?
(A)  Natural component ‘ (B) Hun;an component
(C)" Both (A) and (B) | (D)  None of these

52, Pt 3 T o waet 7@ & 2

&) T ek (B) 7§
(C) Al (D) &g

Which of the following is not a plantation crop ?

(A)  Coffee (B)  Wheat

(C}  Sugarcane (D)  Rubber

[ 323] E (B)_9004_E(35) Page 19 of 28 |




3. Tr=iiefam & w wnifires framrema & 2

@ () R,
© W . (D) + ¢ J&
Which of the following is a primary activity ?
" (A)  Farming (B) Trade
(C)  Wecaving. ‘ (D)  Jute industry
54, T TG et &

(8) &= TR St weid meErR @

(B) ~ Sl HETANR ) Seeiifesd TR
() sreciied TR # T Wy
(D) e IR I Y9 PR A

Suez Canal connects

. (A) Ihdian ocean with Pacific ocean

(B)  Pacific occan with Atlantic ocean

-(C) At.lantic ocean with Arctic ocean

(D)  Red sea with Mediterranean sea

55. IS GUITTR 919 SRIGI 7T o7 &

(a)  sifewr & (B) uf¥Ew et |
(C) o R H ' (D) TR H
Netaji Subhash Chandra Bose International Airport is in

(A)  Odisha (B) West Bengal
(C) Maharashtra (I_J) Gujarat

[ 323 ] E {(B)-9004-E@s) Page 20 of 28



56.

57.

R R O S S — ?
(A)  ITEAER | B o
(C) IR (D) Eg

Village settled along a river will come under which pattern ?

[323 | E [(B)-9004-E@3s)

(A)  Rectangular (B) Radial
(C) - Circular | - (D) Linear
ﬁmﬁf@aﬁ%‘ﬁ@ﬂtﬁ%fmmmmm% ?
(A)  TYRYT 3T (B)  FER I
_(C) T I (D)\éﬁéﬂwﬁwﬁm

Which of the following produces raw material for other industries ?

(A) . Basic industry : (B)  Cottage industry
(C) Footloose industry (D) Small-scale industry
. Frifea § 1 e e € 2
(4  we | . B =R
© I D) e
Which of the following is a tertiary activity ? -
(4)  Farming (B)  Trading
(D)  Hunting

(('3) Weaving

Page 21 of 28




so. Frfeian 3 ® fechas frarera 78 & 2

() ST yEEA - (B) viE weH
(© == Fmior (D) SRt T
Which of the [ollowing is not a secondary .activity ?
(A) Catching fish : . (B) Iron smelting
(C) . Making garments . (D) Making basket
60, ZFR-HERINY IS WeTHr] Sedr &
(A)  FFR I Fe S QA (B) g I v d
() U=HIRHA &l TihRe ¥ (D) Sife @t AerE o
The Trans-Continental Stl;art Highway connects
(A) Vancouver with St. John’s (B) Chengdu with Lhasa
(C) Edmonton with Anchorage | (D) Darwin with Melbourne

61. T oY Sl &
(A)  WRII HETEIR &l & merrR @
(B) HfeET grR Fi Afast 5 @t |
(C) *  RIT HETHFR i STeiiies HerarR §
(D) ST TRTR Ht i TerarT @

Panama canal connects .

(A)  Pacific ocean with Indian ocean
(B) Caribbean sea with Gulf of Mexico
(C) Pacific ocean with Atlantic ocean

(D)  Atlantic occan with Indian ocean

[ 323 ] E [(B)-9004-E3s) Page 22 of 28



62. m%ﬁq@mqﬁq%

63.

64.

(C) Comprehensive ports

(4) R gT (B) o1 gE
(© forega ww (D)  drnfieR T

Main seaports of the world are

(A)  Naval ports (B)  Oil ports

(D) Industrial ports

'5""_ iglich qglﬁ'ﬁﬁmﬁfﬂwwawﬁﬁmm*g ?

(a)  TRmEr (B) 3T HREH
(© g3 (D)  STRIET

Which of the following continents has the maximum flow of global trade ?

(B) North America

(_Ai Asia

(C)  Europe (D)  Africa
ot e v & e ¥

@ R H B) ¥REsH
© e w . o wwwd

Noamundi iron ore region is located in

(A) M:;Lharashtra (B) Jharkhand
(C) Madhya Pradesh (D)  Chhattisgarh

el
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65. e 1 g wit gw g o
(A) ¢ 1950 % THH B 1960% WEHH
© 1970 ¥ TuEH A , (D) 1980 % X H
Greesi revolution was starded in India in
() 1950’ (B) 1960

(C) 1970’s (D) 1980’s
66. hieTehIT YT fd &

&) we | () ifewm =

(€) | e o (D) afRey smel |
Kolkata port is located in

(A)  Karnataka (B) Odisha

(C) Kerala (D) West Bengal-

67. Frfefea W & } o ag s 7@ & 2

(A) + ¥IEF GHHoT

(B) E¥eISTeT WY

(€ @fER (D)  YETETEA viey

Which of the l’oliowing diseases is not airborne ?

(A) Respiratory infection (B) Conjunctivitis
(C) Diarrhoea

(D) Bronchitis

[ 323 | E [(B)-9004-Egs)
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68.

69. -

70.

AIHeT 35 I & P ST o &
@ (B) vzﬁvé
© Fe (D) TR

The coffee region of Brazil is called

| (A)  Fazenda (B) Agenda
(©) | Milp; . (D) Ladang
ATt WHAAR dehelent Uik srafierd &
) fefesg o (B) FAeH A
(C) 3y wewr A (D) afferTg #

Manipal Software Technology Park is situated in

(A)  Sikkim | (B) Karnataka
(C) Andhra Pradesh . (D)  Tamil Nadu
Frferfag o gaifus ygid 7 & ¢ 2

A) e (B) » TR

(C) W (D) I

Which of the following is the most polluted ri\(er ?

(A) Ravi (B)  Godavari

(C) Brahmaputra (D) Yamuna

[323 ] E [(B)-9004-E9)

Page 25 of 28




@US - 9 / SECTION - B
g I W / Short Answer Type Questions

WWI*ZOF‘EW% | Fot 10 Wit % wew ¥ | W & fg 2 3
i T 1

10 x2=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
quesnon carries 2 marks. 10 x 2=20

1, TERTZ % R W@ G o 6 % A e | B

Name four important centres of cotton textile industry of Maharashtra.

FAR | A w9 g £ 2

2

What do you mean by communication ?-
el RO ey =7 ¢ 2 2
What is watershed mahagement ?

4.  YRA & ¥R e 370k e T4 % A fafaw | 2
Write the names of four iron ore producing states of India.

5. HET e @t it S | 2
Define Human Geography. https://www .bsebstudy.com

6. T I AR gg X H IR WL HI | 2
Distinguish between birth rate and death rate.

7. T ANR L ?

- What is free trade ?
8. mﬁmmmwmwmﬁm |

Mention two reasons of declining child sex ratio in India.

9. fom-arqum & Ay s & 2

How is sex-ratio measured ?
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10.

Il

12,

13.

14.

15.

16.

17

18.

19.

20.

SR & MUR W I &1 iiepa Hirag |

Classify industries on the basis of size.

IRA & IR 9@ i s & 7wy |

Name four industrial regions of India.

9Ra H 9REET & T IE A E ?

Which are the main means of transportation in India ?
foreret YT T 8 T weRet @t T & o SRR W HL |
Distinguish between nét sown area and gross sown ar.ea..
wafT YgET & =R Al @ Seoid HL |

Mention four sources of noise pollution.

e TR T E 2

What is Orient express ?

& e % Hed H Seeid HH |

. Mention the importance of the Danube waterway.

A Foreera % 3 oA ST FH W E ?

Which are the two basic regions of human development ?
AT R oA H R WE WY |

.Diﬂ'ercntia'te between immigration and emigration.

ster favirers FTE 2

Whai is digital divide ?

YRHETEIGG IHT T & 2

What is trans-continental railway ?
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24.

25.

26.

gid 39T W / Long Answer Type Questions

mmzlﬁzsé\ﬁﬁﬁw%‘ | i dT aot & so0 € | URE & faw
s 3t Praifa & 1 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions. Each

- question carries 5 marks. , 3x&5=15

}aa'c{m%trﬂarmaﬁwamﬁﬁwmﬁamﬁhq: 5

Differentiate between nomadic herding and commercial livestock rearing.
IFRRATLIT AR § @eT 7eX A1 % Hewd &1 9ol Hifg | 5
Describe the importance of Suez car;al route in international trade.

ferepraviter g9t # 7Rty sfdl @t wawne =i faeem i | | 5
Discuss the problems of urban settlements in developing countries.

ORA ¥ 9 % 3T T faaror 7 foeror € | 5
Give an account of production and distribution of paddy in lndxa

STl % SRR Fil e T | 5

Discuss the non-conventional sources of energy.

URd &1 AEfad g0 3R FHafefad +t i s 5

(A) TR
(B) e

(€) RN

(D) e{ERE

(E) ST A& |

Draw a map of India' and show the following :
(A) Udaipur

(B) Shimla

(C) Bhubaneshwar

(D) Hyderabad

- (E)  Narmada river.

|
|

|
|
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